PIRARASAS A i A AGASAGASAGAGASASASAGAGAGAGAGAGAGAGAGAGAGASASASASAGASAGAS

For your chaollenge today I would like you see if
you can Aolve the division guestions bhelow
which hawve reminders (youw con use your cuhes
to help you). This means they don’t divide
equally but harve a Little hit left over! We write
it like this:

20 + 3 =6 r 2 as we can make 6 equal grouwps
,of 3.and then there are 2 ,sz,t ONeXr OF remaining.

24 + 5 =
18 + 4 =
21 + 10 =
6 + 5 =
28 + 3 =
3 + 2 =
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you find them!

For your chaollenge today you hove to try and
find occurote division numhber sentences uMsing
the numhbers in the squores helow. Rememhber to
check youwr numhber sentences are correct when
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e.g. 20 + &4 =5
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For your chaoallenge todaoy you need to mark the
work bhelow and soy if the answers are correct.
If the answers are not correct use your
knowledge of multiples to explain why. For
example- when we count in tens the numhber
will always end in a rzero.
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26 + 2 =13
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For your chaollenge todoy you need to wse your
knowledge of dividing to find the missing
numhbhers. Rememhber to use the two numhbhers you
hawrve in the numhber sentence to find the

mi.zs;s,in,g one.

[2 =+ 6

+ 10

1
~

6L + 8
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Friday- Numeracy Challenge Sheetl
For your chollenge todaoy you need to solve the
word prohlems by doing more than one
operation. These are called multistep word
probhlems os you may need to

add/subtrack /m,u.,L,t,L,p,L,g before you coan divide!

Boh has 12 sweets and buys |13 sweets more. He
then shaores them hetween his 5 friends. How
many saweelts d.o ,thz,g each gz,t?

Sarah has 32 ice creams. 8 of them melt. She
shares the rest hetween 2 people. How many do
they each get?

Joe bhuys b pockets of hiscuits. Each packet
has 10 bhiscuwits in it. He shares them hetween
10 people. How many do they each get?

Kim has a packet of crisps with 30 crisps in.
She eats % of the cricsps then shares the rest

bheitween her 5 ffizn,d/s. H.ow MANY LrisipAs d.o ,thz,g

each get?
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